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An i H FEHE H SREh e fhENRE TN E)
LU HaEL 5 i ] A HEPER| AR SET| I EsA ERsH &EH (H) | (&)
¥l 47,891 109,916] 53,513] 56,403 -13] -67] -25 60 g5l -42]  351] 393 0 97 97
HI—TH 710( 1,515 748 767 1 4 3 3 0 -2 4 6 3 3 0
FL T H 561 1,315 660 655 3 10 -1 0 1 8 8 0 3 3 0
LI =TH 453 1,030 507 523 1 -2 1 1 —4 1 5 2 2 0
SLlAE 1,724 3,860]  1,915] 1,945 5 12 2 4 2 2 13 11 8 8 0
Sk —TH 474 961 454 507 5 6 1 1 4 6 2 2 2 0
. = 7290 1,740 845 895 -2 -5 -1 0 1 -3 1 4 -1 0 1
SR —TH 542 1,294 619 675 -1 1 3 3 0 -3 3 6 1 2 1
S AT H 399 901 444 457 1 2 0 2 2 2 3 1 0 0 0
Sk BT H 607 1,328 644 684 -1 -3 0 1 1 0 3 3 -3 0 3
BN T B 229 502 248 254 0 -1 0 1 2 2 0 -1 0 1
ARt TH 647 1,699 825 874 0 0 -2 0 2 1 2 1 1 1 0
oA\ T H 393 882 418 464 -4 =10 -3 0 3 —4 0 4 -3 1 4
S BILT H 617 1,450 724 726 21 0 0 0 18 19 1 3 3 0
B naatl 4,637 10,757| 5,221 5,536 12 —4 7 11 17 39 22 -1 9 10
e n—1H 346 812 400 412 1 2 -1 0 1 3 5 2 0 0 0
e T H 984/ 2,090| 1,037| 1,053 1 0 1 2 1 -1 4 5 0 0 0
HHk o —TH 678|l 1,433 708 725 -1 -2 -1 1 2 -1 2 3 0 0 0
W A AERL 2,008 4,335 2,145 2,190 1 0 -1 3 4 1 11 10 0 0 0
Mt A — T H 530( 1,219 597 622 0 15 0 3 3 8 10 2 7 7 0
ek R _TH 356 927 480 447 -1 0 -1 0 1 1 4 3 0 0 0
Mk R =TH 258 552 284 268 0 1 1 0 0 0 0 0 0 0
ik L G| 533l 1,279 641 638 2 5 1 1 4 7 3 1 3 2
mekr aaEtl 1,677 3,977 2,002 1,975 1 21 5 5 13 21 8 8 10 2
TEIT) 366 858 410 448 -1 -6 -1 1 2 —7 3 10 2 2 0
HOEEN— T H 203 424 207 217 1 3 0 0 0 2 4 2 1 1 0
HOEE T H 419 966 463 503 -3 -3 -2 0 2 -2 3 5 1 2 1
HoEEI =T H 683 1,734 847 887 1 -2 -1 0 1 -1 1 2 0 0 0
HOEEAN T H 812l 2,041| 1,006 1,035 -1 0 0 1 1 2 11 9 -2 0 2
HEROH T H 428/ 1,018 515 503 6|  -13 0 0 of -12 3 15 -1 0 1
HOEEIS T H 393 900 444 456 0 -2 -1 0 1 -1 0 1 0 0 0
HoEEOETH 661 1,441 699 742 -2 -6 -1 1 2 -3 3 6 -2 0 2
HOEESOSE 3,599 8,524 4,181| 4,343  -10] =23 -5 2 7 -15 25 40 -3 3 6
PEEE 1,512( 2,849 1,349 1,500 -1 -3 -1 0 1 -2 10 12 0 0 0
FHIAR 313 659 346 313 0 -2 -2 0 2 1 2 1 -1 0 1
R e — T F 5531 1,108 515 593 -2 -1 0 1 4 5 1 -5 0 5
EE g — T 254 523 262 261 -3 -7 -1 0 1 —4 0 4 -2 1 3
R =T H 520(| 1,166 578 588 0 -2 -2 0 2 0 1 1 0 0 0
TEE Py T 619 1,289 614 675 3 2 -1 0 1 1 11 10 2 6 4
EEP g R T H 235 544 270 274 -3 -1 0 1 -2 1 3 0 0 0
e A2 2 1811 4,630]  2,239] 2,391 -12 -6 0 6 -1 18 19 -5 7 12
EEIARRT— T H 675/ 1,399 669 730 -1 -7 1 1 0 -5 10 -3 1 4
EEIARRT T H 658 1,291 612 679 -2 -5 -1 0 1 -3 11 -1 0 1
EEOARRTAE 1,333 2,690 1,281 1,409 -3 -12 0 1 1 -8 13 21 —4 1 5
RPN 275 787 423 364 -6 -3 -3 0 3 -3 5 3 4 1
WHR—TH 701 1,639 808 831 4| =12 1 1 -6 8 -6 1 7
WOOR T H| L7210 3,978 1,913] 2,065 4 17 6 7 1 11 21 10 0 6 6
WHR=TH 854| 2,196] 1,070 1,126 5 6 -1 1 2 6 14 8 1 1 0
HHRIT H 493 1,180 557 623 -1 -5 -2 0 2 -1 0 1 -2 0 2
HPREEE 3,769 8,993| 4,348| 4,645 4 6 9 6 10 37 27 -7 8 15
HiR—TH 676| 1,549 748 801 -4 -12 0 of -12 1 13 0 0 0
LR - TH 935| 2,265| 1,125 1,140 1 3 -2 0 2 4 10 6 1 1 0
PR =TH 4811 1,049 535 514 -5 —4 -2 1 3 -2 2 4 0 1 1
JedRAE 2,092 4,863 2,408| 2,455 -8  -13 —4 1 51 -10 13 23 1 2 1
T IROBTHT 328 823 397 426 6 9 1 2 1 5 1 3 3 0
el 1,588 5,100 2,267 2,833 1 -7 -5 2 7 -7 15 5 8 3
FRE— T H 748 1,762 855 907 0 -6 -1 0 1 —4 8 -1 0 1
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FYlE 1T H 734 1,791 903 888 2 -3 0 0 0 -3 4 7 0 0 0
MoE =1 H 644 1,537 762 775 -5  -11 -1 0 1 -3 0 3 -7 0 7
A EN T H 929  2,249| 1,068 1,181 —4 -8 0 0 0 —4 2 6 —4 1 5
RCENNE 627l 1,451 710 741 -1 0 2 3 1 -2 5 7 0 1 1
MAEST H 417 990 466 524 0 -3 -1 0 1 -1 1 2 -1 0 1
mAE AR 4,099 9,780] 4,764| 5,016 -8|  -31 -1 3 4l =17 16 33 -13 2 15
VEPIe S 554/ 1,125 556 569 2 1 1 1 0 -2 3 5 2 2 0
e —TH 303 673 317 356 -2 —4 0 0 0 -1 2 3 -3 0 3
i — T H 5931 1,353 644 709 2 0 -1 0 1 2 3 1 -1 0 1
A gl 896| 2,026 961| 1,065 0 —4 -1 0 1 1 5 4 —4 0 4
Eh— 1 H 312 693 347 346 2 -1 -1 0 1 0 2 2 0 1 1
B — T H 634 1,386 662 724 -2 0 1 2 1 -1 5 6 0 0 0
=T H 390( 1,052 524 528 1 1 1 1 0 2 5 3 -2 0 2
EAEr| 1,336 3,131 1,533] 1,598 1 0 1 3 2 1 12 11 -2 1 3
e —TH 389 963 455 508 -1 0 -2 0 2 2 2 0 0 0 0
WHE T H 443 1,088 546 542 1 -2 0 0 0 -2 1 3 0 1 1
HHE T H 765/ 1,888 965 923 -1 2 0 1 1 3 6 3 -1 0 1
W& T B 461(| 1,064 519 545 -2 -3 0 1 1 -3 0 3 0 0 0
B E ] H 796 1,753 864 889 -3 -6 —4 0 4 -5 0 5 3 3 0
HHIENT H 241 506 255 251 0 0 -1 0 1 1 1 0 0 0 0
HEOEE 3,095  7,262| 3,604 3,658 -6 -9 -7 2 9 —4 10 14 2 4 2
<HWE—TH 602 1,390 678 712 3 8 1 1 0 5 7 2 2 2 0
<HEIL—TH 714 1,497 732 765 4 3 0 0 0 3 6 3 0 0 0
SHBEIL=TH 5231 1,148 562 586 -1 -1 -1 0 1 0 1 1 0 0 0
<HEWLPTH 575 1,194 601 593 -2 —4 0 0 0 -2 3 5 -2 0 2
<O T H 314 687 366 321 -1 0 3 3 0 -2 1 3 -1 0 1
<WEEEH 2,728 5,916 2,939 2,977 3 6 3 4 1 4 18 14 -1 2 3
WIE AR —TH 785 1,705 856 849 -1 3 1 1 0 -1 8 3 3 0
WIEAR T H 465 1,113 578 535 1 4 0 0 0 2 0 2 4 2
WIEABRTAE 1,250 2,818 1,434 1,384 0 7 1 1 0 1 8 5 7 2
s 397 772 364 408 0 1 0 0 0 1 4 0 0 0
ek —TH|[ 1,081 1,729 769 960 2 5 3 4 1 -3 13 16 5 5 0
e T H 408 708 343 365 1 -6 0 0 0 -2 11 13 —4 0 4
kR =T H 633 1,702 809 893 -2 -3 1 1 0 —4 3 0 0 0
sk BRI H 396 841 413 428 1 5 1 1 0 -1 1 5 5 0
ok aaEl 2,518 4,980 2,334 2,646 2 1 5 6 il -10 28 38 6 10 4
FRIREET 20 53 27 26 0 1 0 0 0 1 1 0 0 0 0
B 738l 1,732 835 897 -3 -13 -1 0 i  -12 1 13 0 0 0
VEEE 289 680 311 369 1 0 -1 0 1 0 0 0 1 1 0
e — T H 443 1,127 555 572 2 3 -1 0 1 2 3 1 2 2 0
e T H 393 927 447 480 -1 -1 0 0 0 -1 2 3 0 0 0
oo B R 836| 2,054| 1,002| 1,052 1 2 -1 0 1 1 5 4 2 2 0
P — T H 677l 1,375 692 683 -1 -5 2 2 0 -1 10 11 —6 0 6
P T H 528| 1,307 613 694 1 3 0 1 1 3 4 1 0 0 0
Ve A Er] 1,205 2,682 1,305 1,377 0 -2 2 3 1 2 14 12 -6 0 6
P e 311 683 338 345 2 -2 0 0 0 -1 4 -1 1 2
BEHIR 217 517 274 243 —4 —4 0 0 0 —4 4 0 0 0




